Differential Equations with Boundary Value Problens 9th Edition Zill Test Bank

Section 2.1.1 - Direction Fields

P

1LIf97 Pand 27 D, the autonomous differential equation —; P(@=bP a5 a solution that is

Select the correct answer.

a. increasing everywhere
b. decreasing everywhere

a
¢ increasing if0<F< N

d. il
decreasing if0 <P < b

a

© fP}E:

" increasing i
ANSWER: C
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:13 AM

2. The autonomous differential equation E =x(c= D+ Dyas a solution that is

Select the correct answer.

a. increasing everywhere
b. decreasing everywhere

C- increasing if O<x<l

d. decreasing if —l<x<0

€ increasing if »1
ANSWER: e
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:12 AM

drP

3. Assume that 9~ D, >0 The autonomous differential equation g Pla+bP)pys a solution that is
Select the correct answer.

a. increasing everywhere
b. decreasing everywhere

4]
c. £
increasing if <P<0

a
“decreasing if ~ <P <0
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Section 2.1.1 - Direction Fields

[}

© decreasing it = B
ANSWER: d
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:12 AM

vﬂr.'f ~
4. The autonomous differential equation g ~ ~ (*~%has a solution that is

Select the correct answer.

a. increasing everywhere
b. decreasing everywhere
C. increasing jf0<x<4
d. decreasing if * >4
€ increasing if 4
ANSWER: e
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:13 AM
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Section 2.1.2 - Autonomous First-Order Des

dx

1. In the autonomous differential equation =x(1

Select the correct answer.
a. * =04 an attractor
b. - 1s semistable

d.-

x=10

c.x=1 1s an attractor
*=1isa repeller
r=1

€. - is semistable
ANSWER: o]
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:13 AM

2. The differential equation [I* T h'l ~ Vg
Select the correct answer.

a. linear
b. homogeneous
c. separable

d. exact

e. Bernoulli
ANSWER: b
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:15 AM

dx ,
3. In the autonomous differential equation " g — x(

Select the correct answer.

a. x=0 is an attractor
b.x=0454 repeller
c.x=1 is an attractor
dx=lis, repeller
e. = 1is semistable
ANSWER: c
POINTS: 1
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Section 2.1.2 - Autonomous First-Order Des

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:15 AM

4. The differential equation ¥ =07

Select the correct answer.

a. linear
b. homogeneous
c. separable

d. exact

e. Bernoulli
ANSWER: e
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:15 AM
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Section 2.2 - Separable Equations

, Te

1. The differential equation ¥ ~
Select the correct answer.
a. linear

b. homogeneous
c. separable

d. exact

e. Bernoulli
ANSWER: c
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:16 AM
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Section 2.3 - Linear Equations

1. The differential equation ¥

=M +3 .
A SlIl.'ClS

Select the correct answer.

a. linear

b. homogeneous

c. separable

d. exact
e. Bernoulli
ANSWER: a
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:16 AM
2. The solution of the differential equation = Fis

Select the correct answer.

a. v=ce"
b.

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

3. The solution of the differential equation ¥

d

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:16 AM

Select the correct answer.
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Section 2.3 - Linear Equations

e. v=—x—1+ce
ANSWER: e
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:17 AM

! = .
4. An integrating factor for the linear differential equation *# Ty =xig

Select the correct answer.

a0 o p
Ho— O

Hl»—t

]

c. &

ANSWER: b

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:17 AM

5. An integrating factor for the linear differential equation ¥ ~ . = *is
Select the correct answer.

a.

b. 2
c. 1
x
1
x

c.e™"

ANSWER: c

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)

HAS VARIABLES: False
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Section 2.3 - Linear Equations

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:17 AM

6. The solution of the differential equation + ~

Select the correct answer.

a. .- - _*
y 2
b. {
y=
£ _x
X 2
c. ¥ ={cx—xlnx)
d. 1
V=
- cx —xlnx
e. v=1+ce
ANSWER: b
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:17 AM

-

. . . LoV — Dy .
7. The differential equation * ¥ = <& teosx;

Select the correct answer.

S

a. linear
b. homogeneous
c. separable

d. exact

e. Bernoulli
ANSWER: a
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:17 AM

V =Xy

8. The solution of the differential equation is

Select the correct answer.

2
X

a. ce

¥

3

b. V=ce
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Section 2.3 - Linear Equations

ANSWER: d
POINTS: 1

QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:17 AM

|I ) Rl
9. The solution of the differential equation * Ty =xig

Select the correct answer.

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

a

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:18 AM
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Section 2.4 - Exact Equations

1. The differential equation
Select the correct answer.

2 oxact with solution * ¥ Ty t¢

b. . . 2.0,
exact with solution ¥ ¥ T¥¥¢
yty+e

2oytyte

C. exact with solution

d. exact with solution

€. not exact
ANSWER: b
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)

Dxpde + (x?+1 )y = 0,

HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

False
2/2/2016 11:28 AM
12/19/2016 4:19 AM

2. The differential equation xyeh + [I* ty” ]QEL' = 0is

Select the correct answer.

a. v ¥
exact with solution - 3 ¢

b. Xy ¥
exact with solution ~ ) ¢

¢ VL2 - +
exact with solution 3 ¢

d. not exact but having an integrating factor x
€. not exact but having an integrating factor y

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

3. The solution o

e

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:19 AM

f I:I + 2})&%’ ‘l’_:Lﬂi'I. = DIS

Select the correct answer.

a. lnx+lniv+x)=c¢

b [+
In| 1=

X

=c
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Section 2.4 - Exact Equations

X
CIn(w+x)+ Pl
yvtx

d In@ +x)+ —

+c
yTXx

€. it cannot be solved
ANSWER: c
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:19 AM
4. The differential equation xyex + {I: +}'J]‘:"EL' =055
Select the correct answer.

a. linear
b. homogeneous
c. separable

d. exact

e. Bernoulli
ANSWER: d
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:20 AM

3 A 2 23, =
5. The differential equation b+ 6 et + (32 + 120 Jay = Ois

Select the correct answer.

a. v 5.‘(}'5 N 31_:}.: y 33,
exact with solution 4 3 2 vy Te
4 = S
b. vy 6n” 3xtye -

+ +4xcTy =¢

exact with solution 4 5

i

1 14
C- . . IJ L —
exact with solution & F3¥¥ =¢

d. exact with solution 43yt +e
€. not exact

ANSWER: c

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
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Section 2.4 - Exact Equations

HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:20 AM

6. The differential equation (

Select the correct answer.

a. exact with solution
b. exact with solution

C. exact with solution

d. not exact but having an integrating factor xy
€. not exact but having an integrating factor y

ANSWER: d
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)

HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:20 AM

7. The solution of & ~2¥)dx +yay = O;

Select the correct answer.

X

& Inly—x)— =g
¥y x

b. Iny —x)—-—+«¢
y—x

c. Inx+Iniy—x)=c¢

dy ¥+ __

X

e. it cannot be solved
ANSWER: a
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)

HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:20 AM
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Section 2.5 - Solutions by Substitutions

1. The differential equation

Select the correct answer.

x+2y
v

it

i

u=xy
v

X

/e o

i

€. it cannot be solved using a substitution

ANSWER: d
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:21 AM
o _ 2

2. The differential equation ¥ ~ =¥ can be solved using the substitution
Select the correct answer.

a ®7Y

C. i :J._'3

d. i ::L'_l

€. d ::L'_:
ANSWER: d
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:21 AM

"=4x+2

can be solved using the substitution

3. The differential equation +
Select the correct answer.

a. 4 +3)
I o) S

o+ E")"has the solution

- 12

b (dx+2p+3) )
Y= 12 ¢

c. (4 + 2y +3)°
YTyt
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Section 2.5 - Solutions by Substitutions

d. ¥y = ﬁta.n[lﬁx+c]
Codx+2y+3= ﬁtan[lﬁ:c+c]

ANSWER: e

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:21 AM

|' _— 1 —_— .
4. The differential equation ¥ = VX T+ L = Lhas the solution
Select the correct answer.

a. x+e |
Y= -
b. El
2+ +1)-
1'=—(t y+l) +c
¥ 3
C. x+te 2
_‘c+;|.'+1=
d Kl
Qc+y+1)2
:L':—I:T 2 ) —x+c¢
3
€. xtc =
xty=|—;
ANSWER: c
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:21 AM

5. An integrating factor for the linear differential equation ¥ P

Select the correct answer.

a 1
x

b. x
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Section 2.5 - Solutions by Substitutions

c. 1
.‘L':
d. x?
c. &
ANSWER: b
POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)

HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:21 AM

6. An integrating factor for the linear differential equation xy = Lis
Select the correct answer.

a. 0

ANSWER: d

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:22 AM

7. The differential equation (c—2y)dx +ydy =0

Select the correct answer.

can be solved using the substitution

a T

==
x
c.u=x—2y
4.4y

€. it cannot be solved using a substitution
ANSWER: b
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM

DATE MODIFIED: 12/19/2016 4:56 AM
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Section 2.5 - Solutions by Substitutions

8. The differential equation + *

Y o_.2
+ ¥ can be solved using the substitution

Select the correct answer.

a BT

b.

-

U=y

C. ::L'J

d. 1

U=y

-

Cu=y-

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

9. The solution of the differential equation -

d

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:56 AM

ry Y
v —_— = .
T 1S

Select the correct answer.

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

d

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:56 AM

T x4yt

10. The differential equation * Ecrhas the solution

Select the correct answer.

a. 2x+3)°
I:_ngj_+¢
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Section 2.5 - Solutions by Substitutions

b. (2x+4y+3)
y=—_*tc
6
c. (2x+4y+35)
y= #+c

d. ta.n_[lﬁ:c +c]

Y

e.
Zxtdy+5=

ANSWER:
POINTS:
QUESTION TYPE:
HAS VARIABLES:
DATE CREATED:
DATE MODIFIED:

11. The differential equation ¥ ~

V2

ta_n[lﬁx + c]

JZ

e

1

Multi-Mode (Multiple choice)
False

2/2/2016 11:28 AM
12/19/2016 4:57 AM

Fmr — vy ) .
x-ytl+ “has the solution

Select the correct answer.

a. —-x+c
V=
N 2

b.

1‘(—}'+1=}'=[

-
a

-x+e

i

-
=

22x—y+1)?

bt
I

3
d. 3
22x—-y+ 1)~
y= (Zx =3 ) -xtc
3
e —x+c P
Zxty= [ 5
ANSWER: b
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:57 AM

Copyright Cengage Learning. Powered by Cognero.

Page 5



Section 2.5 - Solutions by Substitutions
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Section 2.6 - A Numerical Method

1. Solve the problem y' =Gty y(0)= 1numerically for ¥(0-2 using h=0.1
Select the correct answer.
a. 1.1
b. 1.11
c. 1.2
d. 1.21
e. 1.221
ANSWER: e
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:58 AM
2. Solve the problem y'= I:J":= y(0)= 1numerically for Y0 'Z)using h=0.1
Select the correct answer.
a. 1.0
b. 1.001
c. 1.01
d. 1.02
e. 1.002
ANSWER: b
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:58 AM
3. Solve the problem yi=x, y(1)= 2numerically for ¥(1-2 using h=0.1

Select the correct answer.

a. 2.1
b.2.442
c.2.242
d.2.421
e.24
ANSWER: b
POINTS: 1
QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False
DATE CREATED: 2/2/2016 11:28 AM
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Differential Equations with Boundary Value Problens 9th Edition Zll

Section 2.6 - A Numerical Method

DATE MODIFIED: 12/19/2016 4:58 AM

a_ 1
4. Solve the problem ¥ =7
Select the correct answer.

y()= 1numerically for

11

.1.121

. 1.2331

.1.23

. 1.221

ANSWER: c

POINTS: 1

QUESTION TYPE: Multi-Mode (Multiple choice)
HAS VARIABLES: False

DATE CREATED: 2/2/2016 11:28 AM
DATE MODIFIED: 12/19/2016 4:58 AM

o o0 6o o e
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